SR8000

FORTRAN
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SR8000 FORTRAN
FORTRAN

FORTRANT7 f77

FORTRAN90 f90
% f77 - -

=l
-WO0,’
1, _WI,I )

a.out



a.out

% 77 main.f sub.f main.f, sub.f
main.f:
f77: compile start : main.f

*0FORT77 V01-01-A entered.

*program name = MAIN main.f
*end of compilation : MAIN

*program units = 0001, no diagnostics
generated.

sub.f:

f77: compile start : sub.f

*0FORT77 V01-01-A entered.

*program name = SUB sub.f

*end of compilation : SUB

*program units = 0001, no diagnostics

generated.

% Is

a.out main.f sub.f a.out
%

% f77 -c main.f sub.f main.f, sub.f

% Is main.o, sub.o
main.f main.o sub.f sub.o

%

% 77 -0 program main.o sub.o main.o, sub.o

% Is

main.f main.o program sub.f sub.o program

%

77
90

MPI mpif77  mpif90
PARALLELWARE srf77 srf90

FORTRAN f90
Parallel FORTRAN pfo0




FORTRANT77 FORTRANSO

S

SS s
_opt:
% 77 program.f S
% 77 -opt=3  program.f
% f77 -opt=ss program.f SS

fr7 S f90

—loopdiag
% 77 -loopdiag program.f program.f S

f77: compile start : program.f

*0FORT77 V01-01-A entered.
*program name = MAIN
*end of compilation : MAIN
KCHF1805C
the do 10 loop is fuzed with the DO10
following one. line=3

KCHF1809C
the do 10 loop is unrolled 2 times. DO10 2
line=3
*program units = 0001, no diagnostics
generated.

FORTRANT77
6A30-3-314 FORTRANO90 6A30-3-311




&5 DO

=z DO
- (GOTO EXIT )
- GOTO GOTO SELECT
- (STOP PAUSE RETURN )
e DO IF PREDICATE
e DO EQUIVALENCE
&z DO
—pvec

% 77 program.f
% 77 -pvec program.f
% 77 -nopvec program.f

f77

—pvdiag

90

% 77 -pvdiag program.f program.f
f77: compile start : program.f

*0FORT77 V01-01-A entered.
*program name = MAIN
*end of compilation : MAIN

KCHF1700C

the do 20 loop is pseudo-vectorized. D020

line=7
*program units = 0001, no diagnostics
generated.
%

6A30-3-314 FORTRAN90 6A30-3-311

FORTRAN77




SECTION DO

Mw Nk o

DO
POPTION
DO
ez SECTION DO
e DO
- (GOTO  EXIT )
- GOTO

- (STOP PAUSE RETURN
&z DO NOPARALLEL
e DO

&5z DO

—parallel=

DO
SECTION

% 77 -parallel program.f
% £77 -parallel=4 program.f
% 77 -noparallel program.f
% 77 -parallel main.o sub.o

—parallel 2 —parallel=2
—parallel

—pardiag

% 77 -pardiag program.f program.f
f77: compile start : program.f

*QFORT77 VO1-01-A entered.
*program name = MAIN
*end of compilation : MAIN
*end of compilation : _parallel_func_1_MAIN
(diagnosis for loop structure)
KCHF2000C
the do 10 loop is parallelized.line=3 DO10
KCHF2011C
the variable(s) or array(s) in do 10 loop DO10
is applied to tlocal transformation.name=I
line=3
*program units = 0001, no diagnostics
generated.
%

TLOCAL

6A30-3-314 FORTRANO90 6A30-3-311

FORTRANT77




64

2GB 64
—-64 64
% 77 -64 program.f 64
% 77 program.f 32
% 77 -32 program.f 32
% f77 -64 main.o sub.o 64
—64
Yt DATA
2,147,483,647
& ASSIGN GOTO FMT
- —intexp=full 4
8
e 8
—exsrvc
v —hugeary f90
- LBOUND,SHAPE,SIZE,UBOUND,COUNT,MAXLOC,MINLOC
2GB 32
—loglist
% 77 -parallel -loglist program.f
f77: compile start : program.f
*0FORT77 V01-01-A entered.
*program name = MAIN log
*end of compilation : MAIN
*end of compilation : _parallel_func_1 MAIN
*program units = 0001, no diagnostics
generated
% Is program.log

a.out program.f program. log




% cat program.log
parameter (n=1000)
real a(n),b(n),c(n)

** Parallel processing starting at loop entry
** Parallel function: _parallel_func_1_MAIN
** parallel loop

** —-- loops merged(D010 and D020)---

** Parallel processing finishing at loop exit
**

fala [DO 10]

faled Innermost loop unrolled (2 times).

XX there is no target for pattern
referencing,PVP not applied.

**%

program.log

DO10 DO20

LANG

—listlang=

% 77 -parallel -loglist program.f
-listlang=sjis
f77: compile start : program.f

*QFORT77 V01-01-A
* = MAIN
*end of compilation : MAIN
*end of compilation : _parallel_func_1 MAIN
* = 0001 ,
% cat program.log
parameter (n=1000)
real a(n),b(n),c(n)

*%

** : _parallel_func_1_MAIN

**

L — (D010

*%

D020)---

*%*

*x  [DO 10]

** (2 )
XX

*%

—listlang=sjis

SJIS

program.log

C ASCII
SJIS SJIS
EUC EUC

—pmfunc

% f77 -parallel program.f -pmfunc
f77: compile start : program.f

*QFORT77 VO1-01-A entered.




*program name = MAIN pm_
*program name = SUB

*end of compilation : MAIN

*end of compilation : _parallel_func_1 MAIN

*end of compilation : SUB

*end of compilation : _parallel_func_2 SUB pmpr
*program units = 0002, no diagnostics
generated.
% a.out a.out
3.00000000 3000.00000
% Is
a.out
program.f
pm_a.out_Aug22_1625 node000_149513 pmpr
% pmpr pm_a.out_Aug22_1625 node000_149513 pmpr —j SJIS

pm_a.out_Aug22_ 1625 node000_149513:

B
## Function/Subroutine #it
HEHHH R

== Function/Subroutine Ranking ==

Vol.2N0O.4(2000.7) SR8000
CPU-Time[%] Times Func(FiletLine)

[1] 0.004126[93.08] 1  MAIN(program.f+3)

[2] 0.000011[ 0.25] 1  SUB(program.f+14)

TOTAL 0.004137[93.32]

-pmpar

% £77 -parallel program.f -pmpar
f77: compile start : program.f

*QFORT77 V01-01-A entered.
*program name = MAIN
*program name = SUB pm_
*end of compilation : MAIN
*end of compilation : _parallel_func_1_MAIN
*end of compilation : SUB
*end of compilation : _parallel_func_2 SUB pmpr
*program units = 0002, no diagnostics
generated.
% a.out a.out

3.00000000 3000.00000
% Is
a.out
program.f
pm_a.out_Aug22_1647_node000_149551.
% pmpr pm_a.out_Aug22_1647_node000_149551 pmpr

pmpr —j SJIs

R
## Element Parallel Region
T

== Element Parallel Region Ranking ==

CPU-Time[%] MFLOPS MIPS Times Func[Rank] Vol.2NO.4(2000.7) SR8000

[1]0.000006[ 0.03] 173.010 963.322 1 SUB[-]
[2] 0.000005[ 0.03] 392.912 1104.777 1 MAIN[-]

TOTAL 0.000011[ 0.06]




—diffcomp

% 77 -diffcomp program.f
f77: compile start : program.f

*0FORT77 V01-01-A entered.
*program name = MAIN
*program name = SUB
*end of compilation : MAIN
*end of compilation : SUB

*program units = 0002, no diagnostics
generated.

% Is

a.out program.f program.o

% f77 -diffcomp program.f
f77: compile start : program.f

*QFORT77 V01-01-A entered.

*program name = MAIN

*program name = SUB

*end of compilation : SUB

*program units = 0002, no diagnostics
generated.

%

MAIN
SUB

program.o
a.out

SuUB

MAIN
SUB

*end of compilation : MAIN

—recomp

% f77 -diffcomp program.f
f77: compile start : program.f

*QFORT77 VO1-01-A entered.

*program name = MAIN

*program name = SUB

*end of compilation : MAIN

*end of compilation : SUB

*program units = 0002, no diagnostics
generated.

% rm program.f

% Is

a.out program.o

% f77 -recomp -parallel program.f
f77: compile start : program.f

*QFORT77 VO1-01-A entered.
*program name = MAIN
*program name = SUB

MAIN
SUB
program.o
a.out
program.f
—parallel




*end of compilation : MAIN MAIN
*end of compilation : SUB SUB
*program units = 0002, no diagnostics
generated.
%

—-limit

% £77 -limit program.f
% 77 -nolimit program.f

—Xpcomp

| % £77 -Xpcomp program.f

FORTRAN SR8000

—-i,U -—nosymnchk

8 _
77
—i,P
- D
- NL O Q
- VAL REF
- DO WHILE
- DOUBLE COMPLEX

—i,LT



f77: —-i,P —opt=s —pvec

—noparallel —symnchk

f90: -i,P
F770PTS FOO0OPTS
% setenv F770PTS * 7
% setenv F770PTS *“ -pvec -parallel”
a.out
[% a.out
sr8000-s
NQS
% cat a.csh
#@%-q single
#@$-1T 1:00:00 #@%$-q parallel
#0%-IM  2GB #@3-N 1
cd sample #@$-1T 1:00:00
a.out #@%-IM 2GB

% qsub a.csh

Request 6180.sr8000-s.cc.u-tokyo.ac-jp
submited to queue: single

% qstat -h sr8000-bt

REQUEST NAME OWNER QUEUE PRI

6180.sr8000-s a.csh  a30000 C 0
NICE CPU MEM STATE

20 28800 7168 RUNNING

% Is

a.csh a.csh.e6180 a.csh.06180

% cat a.csh.06180

hello.

% cat a.csh.e6180

%

RUNNING

TSS




% limit limit srg000-p

cputime 1:00:00 CPU

filesize unlimited

datasize 131072 kbytes

stacksize 1024 kbytes

coredumpsize 0 kbytes

memoryuse unlimited

descriptors 128 files

64datasize 262144 kbytes 64

64stacksize 1024 kbytes 64

pgrpcputime unlimited

addressspace 128 Mbytes

pgrpadrspace unlimited

essize 512 Mbytes TSS ES

pgrpessize unlimited

threadcount 9 threads

% limit addressspace unlimited

% limit datasize 2048 2048MB

% limit cputime 7200 CPU 2

% limit 64datasize 3072 64 3072MB
NQS #HO$-

#0$-N 4 #@%$-N

#@$-1T 1:00:00 #O$-IT ETIME

#@%-1M  2048MB #@%$-IM

#@%$-1V  1GB #@%-1V ES

#@$-1t  00:30:00 #@$-It CTIME

#@%-1d 1024MB #@$-1d

#@%-1s _ 1024KB #@$-1s




